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MATHEMATICS SSC-i

(For Hearing impaired Children)
SECTION - A filerks 15)

Time aliowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section.are to be answered on the question paper itself. It
should be completed in the first 20 minutes #isd handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lea pencil.

Q.1 Circle the correct option i.e. A/ B /€ / D. Each part carries ohe mark.

(i Which one of the following is an algebraic sentence?

A x+4 B. Ta+3b C. 3+6=9 D. x+2y+3z
(i What is meantby x <37

A x>3 B. x<3

C. x=3and x <3 D. x <=3

X
(iii) Find the solution set of 5 ~6=4:

A 10 B. 20 C. 30 D. 40
(iv) In £(3,2) the first co-ordinate is 3, it is called:
A. X B. Y C. X’ D. Y
(v) Find the value of 'x when 6:4::3:x
A. 12 B. 18 C. 2 D. 24
(vi) A polynomial equation of second degree is calied equation.
A. In B. Linear C. Quadratic D. Third degree
(vii) 3y +5, which type of sentence is it:
A. Algebric expression B. Algebric sentence
C. Open sentence D. True sentence
= Xx
(viii) X =-—is the formula of:
14
A. Arithmetic mean B. Median C. Mode D. Harmonic mean
(ix) The difference between largest observation and the smallest observation from the data is called:
A Class difference B. Range
C. ltems D. Midpoint
(X) A line segment whose end points are any two pois of a circie is called:
A Radius B. Chord C. Tangent D. Arc
(xi) Find the value of 'a'when 4:a::q:16
A +4 B. +8 C. -8 D. -4
(xii) Ix + m, which type of equation is it:
A Third degree  B. Linear C. Quadratic D. in-eguation
%
(xiii) —| =
2
25 10 5
A — B — C. 2 D -
4 4 2 2
n+1
(xiv)  Median= th when n is:
A Even B. Odd C. Equal D. Large
a b
(xv) if — =— then:
c
A. ab =bc B. 4 =ac C. ¢ =ab D. a* =bc
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MATHEMANES SSC-II db
(For Hearing Impaied Children)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60
e o—

NOTE:- Answer any twelve parts from Section ‘B’ and any‘t*no gquestions from Section ‘C’ on the separately
provided answer book. Use supplementary answer #iheet i.e. Sheet-B if required. Write your answers
neatly and legibly. '

S
b s

SECTION — B (Mgie 36

Q.2 Attempt any TWELVE parts. All parts carry equal maris. (12x3=36)
() Plot the following points on graph paper: (-1,3) , ¢6,0) , (-3,-5)
{ii) Factorize x* -7x+10=0
(iii) Find the solution set of the standard quadratic equslion ax® +bx+c =0 for the following values:
a=2 , b=-9 , ¢=9
iv) Eliminate 'x'by comparison method ax—b=0, ex-d =0
v) Find the fourth proportional in following 3a’6® , Sab? , 9ab

vi) Find the Arithmetic mean of the following numbers: 64, 75, 81, 87, 90
vii) Factorize 2)° +5y-3=0

ix) Find the arithmetic mean and mode for the following values: 148, 145, 160, 157, 156, 160.
X) Define “Median’. '
[ Find the range of the foliowing set of measurements: 25, 12, 15, 28, 9, 16, 24, 45, 13, 9, 28.
i) Draw a simple bar diagram to represent the weekdy pocket money of 5 students of an English medium
school.

(
(
{
(
(vili)  For what value of "x', ratio 3+x:2 +4x is equal to the ratio 2:37
{
(
(
{

Students | Tanveer | Ashigf . Nazir Bashir __| Saleem |
Pocket Money in (Rs) 140 17% 250 275 350 |

(xiii)  Given below are the weights in /bs of 30 students-@f a high school. 130, 133, 124, 121, 115, 139,
137, 144, 142, 133, 133, 128, 129, 132, 131, 128, 126, 132, 134, 135, 138, 136, 141, 130, 135,
141,123, 126, 118, 134. Taking 5 as the size of thm class interval, prepare a frequency table.

(xiv)  Forwhat value of 'x' the ratio 2+ x: x+12 and the ratio 2 :3 are equal?

(xv)  Find the third proportional 754*h°,15a’5°

{xvi) Foliowing are the earning (in Rs) of ten workers: 88, 70, 72, 125, 115, 95, 81, 90, 85, 90.
Calculate Median.
(xvil)  Find the mean proportional 16, 9.

(xviii)  Plot the graph of following by taking at least two omdered pair (x,ye R), 3x—4=>5y

SECTION — C (Maglge 24)

Note: Attempt any THREE questions. All questions camy equal marks. {(3x8=24)

Q.3 Define the following and illustrate by diagrams:
N Radius of a circle
(i) Diameter of a circle
Q4. Construct a triangle if possible when: mAB = 5.6cm , mBC =6cm, mZA4 = 90°
QS5 Ifa:p=3:4,find Sa+4b:6a+9
Q6. Agroup of 10th class students obtained the following marks out of 100 marks in English test:
58, 59, 58, 33, 40, 58, 45, 46, 43, 45, 45, 50, 52, 49, 50, 57, 63, 55, 49, 50, 65, 49, 48, 44, 42 47 46, 47, 46,
53, 40, 44.
Classify the data into a frequency distribution by (direct nwsthod) taking 6 as the size of class interval. Also find
the class interval with least class frequency.
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